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@ 6t = 6000000 g @ 500kg = 04t
@ 120000g = 1200kg @ 0.03kg =30g

® 7000g = Tkg
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@ 240a =2.4ha
@ 0.2km? = 20ha

3 35000a = 3.5 km?

@ 170000m? = 17a

@ 5.9ha = 59000 m?
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® 13ha =130a ® 1.8km? = 180004
@ 5.6km? = 5600 ha @ 92000a = 92ha

3 8.5km2 = 850000 m2
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@ 350m? = 35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700 kg

® 23000000g = 23t



8.

2014 Wol 7} 7}

@D 4m?
@ 4000 cm?
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@ 40cm?

® 40000 cm?

® 40m?



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 Bio]T},

® 380kg + 4200 g = 380.42kg



@ 240a =2.4ha @ 0.12km? = 1200 a
@ 97.2ha = 972000 m?2 @ 3140a = 3.14ha

3 3500000m2 = 3.5 km?
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@ 4a = 400m?
® 6km? = 6000000 m?

(3 780000 m2 = 78 ha,

@ 2000a = 20ha

@ 3500000a = 35km?
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© 12ha @ 1200000 m?

3 1200000000 cm?
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2 kg

®© 72, 1kg @ L, 0.1kg

oldl&= 3.2ha 9] =oflA] & 5.6t & AF45FA, W= 4.5ha
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® ¥4t 0.01kg

@ W4, 1ke ® W, 0.1ke
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® A 1L =2-18a @ AHE c=nu-18a

® A LT =-20a



